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2 Nk EE SCHZ B2 7/ 4 59. 76 29.03 Ok
3 BAT HX J SSH¥ =2 9/ 4 59. 81 28.32 9%
4 BHE Hh E7YesSs  f1 8/3 59. 94 29.34 11k
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5 IS EA SCHxzx il 8/ 5 1:00. 10 20.21 9%
6 KH 65 A4 b~r4E &l 7/ 5 1:00. 31 29.45 9%k
7 HLHPIARE 7Y esSs {3 7/ 3 1:00. 60 29.65 Ok
8 > JSSHT = 9/ 7 1:01. 54 29.48 Ok
9 BH FE TS Sk 12 8/ 6 1:02.09 29.11 9%
10 9 fEr b -b A &S 9/ 3 1:02.17 30.05 8%k
11 HI 5E HEH A 13 7/ 6 1:02. 41 30.11 9%k
12 Bo WAk 2 Z Ly 7SC w2 9/ 2 1:02.73 30.21 S
13 KA # J SSH¥ 1 7/ 2 1:03.10 30.51  10%%
14 Kit Th&E IMEHS C 2 8/ 1 1:03. 40 30.08 8%k
15 AFl fER HEhyFSC 13 8/8  1:03.41 30.09  8fk
16 i Ul A 54 =l 8/ 2 1:04.22 30.67 Tk
17 il e N 2RSS 13 8/ 7 1:04. 25 30.64  8Hk
18 FKH Wi 7Y e TH o 7/ 1 1:04.42 30.55 Tk
19 Fkf L SPEE7ZF 0 =3 9/ 6 1:05.00 30.51  THk
20 &I AT J S Sfx Hl 7/ 7 1:05.08 30.95 9%k
21 ¥ 3R FU T 13 6/ 6 1:05.35 31.19 7%
21 LA #kFn BEE = 9/ 8 1:05. 35 31.23 7%
23 ISR BE7YESS &1 9/ 1 1:05. 40 30.80 Tk
24 L Pl WIS C 2 6/ 1 1:05.44 31.06 8%
256 iy =+ SPEGT=F Y 2 7/8 1:05. 60 31.05 7%
26 #R =R SCHx% 1 6/ 8 1:06. 28 31.85 8%k
27 BFH E{E ~N2ZXS S 2 6/ 4 1:06. 35 31. 61 %
28 EHY  fEME HEH A =1 6/ 5 1:06. 61 31.78 63k
29 Fg¥E Enyp HT2ASS /)6 5/ 7 1:06. 62 31.49 9%k
30 RAMRHET 7Y e TH 2 6/ 3 1:07.30 31.88 6%
31 R EHE SCHZ 2 6/ 7  1:07.34 31.77 %
32 NNk FEEE SCHz 1 5/ 4 1:07.74 32.25 Tk
33 A IME HT7ASS il 1/ 4 1:07.77 32.40 8%k
34 )l fEE IWAFS C 12 5/ 1 1:07.90 32.42 Tk
35 LA AR HEH A 1 5/ 6 1:07.95 32.60 8k
36 L2 kB J S SHafk 1 5/ 2 1:08.02 31,92  THk
37 Pk THE SPRE7ZE 0 2 5/ 5 1:08. 38 32.21 Tk
38 il g AW H T NG 3/ 1 1:08.49 32.52 Sk
39 IAA ERE k7S C 13 5/ 3 1:08.58 33.29 5%k
40 JTRE KH bRz 4/ 4 1:09.12 33.12 Tk
41 By PEE MBS#/n" =) =1 2/ 8 1:09. 23 32.73 5%
42 '=H  AE H7YEeSS Hil 3/ 4 1:09. 33 33.36 6%
43 Z2H faER FU T 12 6/ 2 1:09. 60 32.44 6k
44 A ZEE ZHKUKITT &2 4/ 2 1:09. 63 33.04 5%k
45 KA A ZHOKIKITT &S 4/ 5 1:09. 71 33.78 4%k
46 HH HFN WHMS C =3 5/ 8 1:09. 83 33.54 4k
47 I K A "N~ %E N6 3/ 6 1:10. 07 33.57 7%
48 FH HER AT S C 2 3/5  1:10.10 3415 6%
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